

Realizations of Multimode Quantum Group $SU(1,1)_{q,s}$

Zhao-xian Yu¹ and Ye-hou Liu²

Received July 16, 1998

By virtue of the two-parameter deformed multimode bosonic oscillator, the Nodvik and Holstein–Primakoff realizations of the two-parameter deformed multimode quantum group $SU(1,1)_{q,s}$ are derived. The deformed mappings between the multimode quantum group $SU(1,1)_{q,s}$ and the two-parameter deformed multimode bosonic oscillators are also presented.

In the past few years, quantum groups and algebras have been shown to arise in many problems of physical and mathematical interest. Much effort is now being devoted to the construction of their representations, and recently many realizations have been usefully devised using the q -deformation and q,s -deformation of single-mode bosonic operators and the q,s -deformation of multimode bosonic oscillators (Faddeev, 1981; Drinfeld, 1986; Jimbo, 1986; Kulish *et al.*, 1981; Biedenharn, 1989; Macfarlane, 1989; Sun *et al.*, 1989; Yan, 1990; Ng, 1990; Katriel *et al.*, 1991; Nodvik, 1969; Demidov *et al.*, 1990; Sudbery, 1990; Schirmacher *et al.*, 1991; Burdik *et al.*, 1991; Chakrabarti *et al.*, 1991; Jing, 1993; Zhou *et al.*, 1995; Curtright *et al.*, 1990; Song, 1990; Quesne, 1991; Mallick *et al.*, 1991).

Based on our recent work (Yu *et al.*, 1998), the present paper derives the Nodvik and Holstein–Primakoff realizations of the multimode quantum group $SU(1,1)_{q,s}$ and gives the deformed mappings between the multimode quantum group $SU(1,1)_{q,s}$ and the q,s -deformed multimode bosonic oscillators.

We introduce four independent groups of the q,s -deformed bosonic oscillators $\{a_i^\dagger, a_i, n_i^a\}$, $\{b_i^\dagger, b_i, n_i^b\}$, $\{c_i^\dagger, c_i, n_i^c\}$, and $\{d_i^\dagger, d_i, n_i^d\}$ (for $i = 1, 2, \dots, k$). They satisfy the commutation relations (Jing, 1993)

¹Shengli Oilfield TV University, Shandong Province 257004, China.

²Chongqing Petroleum Advanced Polytechnic College, Chongqing, 400042, China.

$$a_i^\dagger a_i = [n_i^a]_{qs}, \quad a_i a_i^\dagger = [n_i^a + 1]_{qs},$$

$$[n_i^a, a_i^\dagger] = a_i^\dagger, \quad [n_i^a, a_i] = -a_i \quad (1a)$$

$$a_i a_i^\dagger - s^{-1} q a_i^\dagger a_i = (sq)^{-n_i^a}, \quad a_i a_i^\dagger - (sq)^{-1} a_i^\dagger a_i = (s^{-1} q)^{n_i^a} \quad (1b)$$

$$b_i^\dagger b_i = [n_i^b]_{qs^{-1}}, \quad b_i b_i^\dagger = [n_i^b + 1]_{qs^{-1}},$$

$$[n_i^b, b_i^\dagger] = b_i^\dagger, \quad [n_i^b, b_i] = -b_i \quad (2a)$$

$$b_i b_i^\dagger - sq b_i^\dagger b_i = (sq^{-1})^{n_i^b} \quad (2b)$$

$$c_i^\dagger c_i = [n_i^c]_{qs}, \quad c_i c_i^\dagger = [n_i^c + 1]_{qs},$$

$$[n_i^c, c_i^\dagger] = c_i^\dagger, \quad [n_i^c, c_i] = -c_i \quad (3a)$$

$$c_i c_i^\dagger - s^{-1} q c_i^\dagger c_i = (sq)^{-n_i^c}, \quad c_i c_i^\dagger - (sq)^{-1} c_i^\dagger c_i = (s^{-1} q)^{n_i^c} \quad (3b)$$

$$d_i^\dagger d_i = [n_i^d]_{qs^{-1}}, \quad d_i d_i^\dagger = [n_i^d + 1]_{qs^{-1}},$$

$$[n_i^d, d_i^\dagger] = d_i^\dagger, \quad [n_i^d, d_i] = -d_i \quad (4a)$$

$$d_i d_i^\dagger - sq d_i^\dagger d_i = (sq^{-1})^{n_i^d} \quad (4b)$$

where we have used the notations $[x]_{q,s} = s^{1-x}(q^x - q^{-x})/(q - q^{-1})$; the x can be operators or general numbers.

Similar to our former work (Yu *et al.*, 1998), we define four independent q,s -deformed k -mode bosonic operators as follows:

$$A_k = a_1 a_2 \dots a_k \left\{ \frac{[n_1^a]_{qs} [n_2^a]_{qs} \dots [n_k^a]_{qs}}{\min([n_1^a]_{qs}, [n_2^a]_{qs}, \dots, [n_k^a]_{qs})} \right\}^{-1/2} \quad (5)$$

$$B_k = b_1 b_2 \dots b_k \left\{ \frac{[n_1^b]_{qs^{-1}} [n_2^b]_{qs^{-1}} \dots [n_k^b]_{qs^{-1}}}{\min([n_1^b]_{qs^{-1}}, [n_2^b]_{qs^{-1}}, \dots, [n_k^b]_{qs^{-1}})} \right\}^{-1/2} \quad (6)$$

$$C_k = c_1 c_2 \dots c_k \left\{ \frac{[n_1^c]_{qs} [n_2^c]_{qs} \dots [n_k^c]_{qs}}{\min([n_1^c]_{qs}, [n_2^c]_{qs}, \dots, [n_k^c]_{qs})} \right\}^{-1/2} \quad (7)$$

$$D_k = d_1 d_2 \dots d_k \left\{ \frac{[n_1^d]_{qs^{-1}} [n_2^d]_{qs^{-1}} \dots [n_k^d]_{qs^{-1}}}{\min([n_1^d]_{qs^{-1}}, [n_2^d]_{qs^{-1}}, \dots, [n_k^d]_{qs^{-1}})} \right\}^{-1/2} \quad (8)$$

It is easy to check the following:

$$A_k A_k^\dagger - s^{-1} q A_k^\dagger A_k = (sq)^{-N_k^a}, \quad A_k A_k^\dagger - (sq^{-1}) A_k^\dagger A_k = (s^{-1} q)^{N_k^a} \quad (9a)$$

$$[N_k^a, A_k^\dagger] = A_k^\dagger, \quad [N_k^a, A_k] = -A_k \quad (9b)$$

$$B_k B_k^\dagger - sq B_k^\dagger B_k = (sq^{-1})^{N_k^b} \quad (10a)$$

$$[N_k^b, B_k^\dagger] = B_k^\dagger, \quad [N_k^b, B_k] = -B_k \tag{10b}$$

$$C_k C_k^\dagger - s^{-1} q C_k^\dagger C_k = (sq)^{-N_k^c}, \quad C_k C_k^\dagger - (sq^{-1}) C_k^\dagger C_k = (s^{-1} q)^{N_k^c} \tag{11a}$$

$$[N_k^c, C_k^\dagger] = C_k^\dagger, \quad [N_k^c, C_k] = -C_k \tag{11b}$$

$$D_k D_k^\dagger - sq D_k^\dagger D_k = (sq^{-1})^{N_k^d} \tag{12a}$$

$$[N_k^d, D_k^\dagger] = D_k^\dagger, \quad [N_k^d, D_k] = -D_k \tag{12b}$$

where N_k^a, N_k^b, N_k^c , and N_k^d are given by

$$N_k^a = \min(n_1^a, n_2^a, \dots, n_k^a) \tag{13}$$

$$N_k^b = \min(n_1^b, n_2^b, \dots, n_k^b) \tag{14}$$

$$N_k^c = \min(n_1^c, n_2^c, \dots, n_k^c) \tag{15}$$

$$N_k^d = \min(n_1^d, n_2^d, \dots, n_k^d) \tag{16}$$

It is easy to find that $\{A_k^\dagger, A_k, N_k^a\}$, $\{B_k^\dagger, B_k, N_k^b\}$, $\{C_k^\dagger, C_k, N_k^c\}$, and $\{D_k^\dagger, D_k, N_k^d\}$ indicate q,s -deformed k -mode bosonic oscillators, respectively.

Similar to the single-mode quantum group $SU(1,1)_{q,s}$ (Jing, 1993; Jing *et al.*, 1993), the k -mode quantum group $SU(1,1)_{q,s}$ also has three representations: (a) positive discrete series; (b) negative discrete series; (c) continuous series, which we do not consider here. The generators of the k -mode quantum group $SU(1,1)_{q,s}$ can be obtained from a Jordan–Schwinger realization in terms of the q,s -deformed k -mode bosonic oscillator creation and annihilation operators

$$\begin{aligned} (L_k^{(a)})_+ &= s^{-1} A_k^\dagger C_k^\dagger, & (L_k^{(a)})_- &= s^{-1} C_k A_k, \\ (L_k^{(a)})_0 &= \frac{1}{2} (N_{k,a}^{(a)} + N_{k,c}^{(a)} + 1) \end{aligned} \tag{17a}$$

$$\begin{aligned} (L_k^{(b)})_+ &= s B_k D_k, & (L_k^{(b)})_- &= s D_k^\dagger B_k^\dagger, \\ (L_k^{(b)})_0 &= \frac{-1}{2} (N_{k,b}^{(b)} + N_{k,d}^{(b)} + 1) \end{aligned} \tag{17b}$$

where the notations are defined by

$$N_{k,a}^{(a)} = N_k^a, \quad N_{k,b}^{(b)} = N_k^b, \quad N_{k,c}^{(a)} = N_k^c, \quad N_{k,d}^{(b)} = N_k^d \tag{18}$$

It is easy to check that equations (17a) and (17b) satisfy the following commutation relations:

$$[(L_k^{(a)})_0, (L_k^{(a)})_\pm] = \pm (L_k^{(a)})_\pm \tag{19a}$$

$$s^{-1} (L_k^{(a)})_+ (L_k^{(a)})_- - s (L_k^{(a)})_- (L_k^{(a)})_+ = s^{-2} (L_k^{(a)})_0 [2(L_k^{(a)})_0] \tag{19b}$$

$$[(L_k^{(b)})_0, (L_k^{(b)})_{\pm}] = \pm(L_k^{(b)})_{\pm} \quad (20a)$$

$$s^{-1}(L_k^{(b)})_+(L_k^{(b)})_- - s(L_k^{(b)})_-(L_k^{(b)})_+ = s^{-2}(L_k^{(b)})_0[2(L_k^{(b)})_0] \quad (20b)$$

The k -mode quantum group $SU(1,1)_{q,s}$ is a Hopf algebra; its coproduct, antipode, and counit are, respectively, as follows.

Coproduct:

$$\Delta((L_k^{(a)})_0) = (L_k^{(a)})_0 \otimes 1 + 1 \otimes (L_k^{(a)})_0 \quad (21a)$$

$$\Delta((L_k^{(a)})_{\pm}) = (L_k^{(a)})_{\pm} \otimes (sq)^{-(L_k^{(a)})_0} + (s^{-1}q)^{(L_k^{(a)})_0} \otimes (L_k^{(a)})_{\pm} \quad (21b)$$

$$\Delta(1) = 1 \otimes 1 \quad (21c)$$

$$\Delta((L_k^{(b)})_0) = (L_k^{(b)})_0 \otimes 1 + 1 \otimes (L_k^{(b)})_0 \quad (22a)$$

$$\Delta((L_k^{(b)})_{\pm}) = (L_k^{(b)})_{\pm} \otimes (sq)^{-(L_k^{(b)})_0} + (s^{-1}q)^{(L_k^{(b)})_0} \otimes (L_k^{(b)})_{\pm} \quad (22b)$$

$$\Delta(1) = 1 \otimes 1 \quad (22c)$$

Antipode:

$$S((L_k^{(a)})_0) = -(L_k^{(a)})_0 \quad (23a)$$

$$S((L_k^{(a)})_+) = -(sq^{-1})(L_k^{(a)})_+ s^{2(L_k^{(a)})_0} \quad (23b)$$

$$S((L_k^{(a)})_-) = -(sq^{-1})(L_k^{(a)})_- s^{2(L_k^{(a)})_0} \quad (23c)$$

$$S((L_k^{(b)})_0) = -(L_k^{(b)})_0 \quad (24a)$$

$$S((L_k^{(b)})_+) = -(sq^{-1})(L_k^{(b)})_+ s^{2(L_k^{(b)})_0} \quad (24b)$$

$$S((L_k^{(b)})_-) = -(sq^{-1})(L_k^{(b)})_- s^{2(L_k^{(b)})_0} \quad (24c)$$

Counit:

$$\epsilon((L_k^{(a)})_0) = \epsilon((L_k^{(a)})_{\pm}) = 0 \quad (25a)$$

$$\epsilon(1) = 1 \quad (25b)$$

$$\epsilon((L_k^{(b)})_0) = \epsilon((L_k^{(b)})_{\pm}) = 0 \quad (26a)$$

$$\epsilon(1) = 1 \quad (26b)$$

The two discrete unitary irreducible representations of the k -mode quantum group $SU(1,1)_{q,s}$ are

$$|l, r; l, r; \dots\rangle^a = |r - l - 1; r - l - 1; \dots\rangle^a \\ \otimes |r + l; r + l; \dots\rangle^a \quad (r \geq -l > 0) \quad (27a)$$

$$|l, r; l, r; \dots\rangle^b = |-r - l - 1; -r - l - 1; \dots\rangle^b$$

$$\otimes |-r + l; -r + l; \dots\rangle^b \quad (r \leq l < 0) \quad (27b)$$

These irreducible representations are infinite dimensional and depend on the quantum numbers $l = -1/2, -1, \dots$. The action of the k -mode quantum group $SU(1,1)_{q,s}$ generators on the elements of the irreducible representations (27a) and (27b) is given by

$$(L_k^{(a)})_+ |l, r; l, r; \dots\rangle^a = s^{-1} \sqrt{[r - l]_{qs} [r + l + 1]_{qs}} |l, r + 1; l, r + 1; \dots\rangle^a \quad (28a)$$

$$(L_k^{(a)})_- |l, r; l, r; \dots\rangle^a = s^{-1} \sqrt{[r + l]_{qs} [r - l - 1]_{qs}} |l, r - 1; l, r - 1; \dots\rangle^a \quad (28b)$$

$$(L_k^{(a)})_0 |l, r; l, r; \dots\rangle^a = r |l, r; l, r; \dots\rangle^a \quad (28c)$$

and

$$(L_k^{(b)})_+ |l, r; l, r; \dots\rangle^b = s \sqrt{[-r - l - 1]_{qs}^{-1} [-r + l]_{qs}^{-1}} |l, r + 1; l, r + 1; \dots\rangle^b \quad (29a)$$

$$(L_k^{(b)})_- |l, r; l, r; \dots\rangle^b = s \sqrt{[-r - l]_{qs}^{-1} [-r + l + 1]_{qs}^{-1}} |l, r - 1; l, r - 1; \dots\rangle^b \quad (29b)$$

$$(L_k^{(b)})_0 |l, r; l, r; \dots\rangle^b = r |l, r; l, r; \dots\rangle^b \quad (29c)$$

The Casimir operators of the k -mode quantum group $SU(1,1)_{q,s}$ are

$$C^{(a)} = s^{2(L_k^{(a)})_0} \{ -s^2 (L_k^{(a)})_- (L_k^{(a)})_+ + [(L_k^{(a)})_0]_{qs} [(L_k^{(a)})_0 + 1]_{qs} \} \quad (30a)$$

$$C^{(b)} = s^{2(L_k^{(b)})_0} \{ -(L_k^{(b)})_- (L_k^{(b)})_+ + s^2 [-(L_k^{(b)})_0]_{qs}^{-1} [-(L_k^{(b)})_0 - 1]_{qs}^{-1} \} \quad (30b)$$

According to the above properties of the k -mode quantum group $SU(1,1)_{q,s}$, it is easy to obtain its Nodvik realizations as follows:

$$(L_k^{(a)})_+ = s^{-1} e^{-ip_k^a} \sqrt{[l + u_k^a]_{qs} [u_k^a - l + 1]_{qs}} \quad (31a)$$

$$(L_k^{(a)})_- = s^{-1} \sqrt{[l + u_k^a]_{qs} [u_k^a - l + 1]_{qs}} e^{ip_k^a} \quad (31b)$$

$$(L_k^{(a)})_0 = u_k^a \quad (31c)$$

and

$$(L_k^{(b)})_+ = s \sqrt{[l + u_k^b]_{qs}^{-1} [u_k^b - l + 1]_{qs}^{-1}} e^{ip_k^b} \quad (32a)$$

$$(L_k^{(b)})_- = s e^{-ip_k^b} \sqrt{[l + u_k^b]_{qs}^{-1} [u_k^b - l + 1]_{qs}^{-1}} \quad (32b)$$

$$(L_k^{(b)})_0 = -u_k^b \quad (32c)$$

where $\{u_k^a, p_k^a\}$ and $\{u_k^b, p_k^b\}$ are the canonical commutators, namely,

$$[u_k^a, p_k^a] = i, \quad [u_k^b, p_k^b] = i \quad (33)$$

Equations (31) and (32) hold equations (19) and (20), respectively.

For the q,s -deformed k -mode bosonic oscillators we have the the following new realizations: (1) For the positive discrete series (a):

$$A_k = \sqrt{[u_k^a - l + 1]_{qs}} e^{ip_k^a}, \quad A_k^+ = e^{-ip_k^a} \sqrt{[u_k^a - l + 1]_{qs}} \quad (34a)$$

$$A_k^+ A_k = [u_k^a - l]_{qs} \quad (34b)$$

or

$$C_k = \sqrt{[u_k^a - l + 1]_{qs}} e^{ip_k^a}, \quad C_k^+ = e^{-ip_k^a} \sqrt{[u_k^a - l + 1]_{qs}} \quad (35a)$$

$$C_k^+ C_k = [u_k^a - l]_{qs} \quad (35b)$$

(2) For the negative discrete series (b):

$$B_k = \sqrt{[u_k^b - l + 1]_{qs}^{-1}} e^{ip_k^b}, \quad B_k^+ = e^{-ip_k^b} \sqrt{[u_k^b - l + 1]_{qs}^{-1}} \quad (36a)$$

$$B_k^+ B_k = [u_k^b - l]_{qs}^{-1} \quad (36b)$$

or

$$D_k = \sqrt{[u_k^b - l + 1]_{qs}^{-1}} e^{ip_k^b}, \quad D_k^+ = e^{-ip_k^b} \sqrt{[u_k^b - l + 1]_{qs}^{-1}} \quad (37a)$$

$$D_k^+ D_k = [u_k^b - l]_{qs}^{-1} \quad (37b)$$

Therefore we have the deformed mappings between the k -mode quantum group $SU(1,1)_{q,s}$ and the q,s -deformed k -mode bosonic oscillators operators with tildes indicate nondeformed cases):

(1) For the positive discrete series (a):

$$(L_k^{(a)})_+ = s^{-1} (\widetilde{L}_k^{(a)})_+ f((L_k^{(a)})_0), \quad (L_k^{(a)})_- = s^{-1} f((L_k^{(a)})_0) (\widetilde{L}_k^{(a)})_- \quad (38a)$$

$$(L_k^{(a)})_0 = (\widetilde{L}_k^{(a)})_0 \quad (38b)$$

and

$$A_k = \widetilde{A}_k \sqrt{\frac{[N_k^a]_{qs}}{N_k^a}}, \quad A_k^+ = \sqrt{\frac{[N_k^a]_{qs}}{N_k^a}} \widetilde{A}_k^+ \quad (39a)$$

or

$$C_k = \widetilde{C}_k \sqrt{\frac{[N_k^c]_{qs}}{N_k^c}}, \quad C_k^+ = \sqrt{\frac{[N_k^c]_{qs}}{N_k^c}} \widetilde{C}_k^+ \quad (39b)$$

where

$$(\widetilde{L}_k^{(a)})_+ = e^{-ip_k^a} \sqrt{(l + (L_k^{(a)})_0)((L_k^{(a)})_0 - l + 1)} \quad (40)$$

$$(\widetilde{L}_k^{(a)})_- = \sqrt{(l + (L_k^{(a)})_0)((L_k^{(a)})_0 - l + 1)} e^{ip_k^a}, \quad (\widetilde{L}_k^{(a)})_0 = u_k^a \quad (41)$$

$$f((L_k^{(a)})_0) = \sqrt{\frac{l + (L_k^{(a)})_0]_{qs}[(L_k^{(a)})_0 - l + 1]_{qs}}{(l + (L_k^{(a)})_0)((L_k^{(a)})_0 - l - 1)}} \tag{42}$$

(2) For the negative discrete series (b):

$$(L_k^{(b)})_+ = s(\widetilde{L}_k^{(b)})_+ f((L_k^{(b)})_0), \quad (L_k^{(b)})_- = sf((L_k^{(b)})_0)(\widetilde{L}_k^{(b)})_- \tag{43a}$$

$$(L_k^{(b)})_0 = (\widetilde{L}_k^{(b)})_0 \tag{43b}$$

and

$$B_k = \widetilde{B}_k \sqrt{\frac{N_k^b]_{qs^{-1}}}{N_k^b}}, \quad B_k^\dagger = \sqrt{\frac{N_k^b]_{qs^{-1}}}{N_k^b}} \widetilde{B}_k^\dagger \tag{44a}$$

or

$$D_k = \widetilde{D}_k \sqrt{\frac{N_k^d]_{qs^{-1}}}{N_k^d}}, \quad D_k^\dagger = \sqrt{\frac{N_k^d]_{qs^{-1}}}{N_k^d}} \widetilde{D}_k^\dagger \tag{44b}$$

where

$$(\widetilde{L}_k^{(b)})_+ = e^{-ip_k^b} \sqrt{(-(L_k^{(b)})_0 - l - 1)(-(L_k^{(b)})_0 + l)} \tag{45}$$

$$(\widetilde{L}_k^{(b)})_- = \sqrt{(-(L_k^{(b)})_0 - l - 1)(-(L_k^{(b)})_0 + l)} e^{ip_k^b}, \quad (\widetilde{L}_k^{(b)})_0 = -u_k^{(b)} \tag{46}$$

$$f((L_k^{(b)})_0) = \sqrt{\frac{-(L_k^{(b)})_0 - l - 1]_{qs^{-1}}[-(L_k^{(b)})_0 + l]_{qs^{-1}}}{(-(L_k^{(b)})_0 - l - 1)(-(L_k^{(b)})_0 + l)}} \tag{47}$$

In order to obtain the Holstein–Promakoff realizations of the k -mode quantum group $SU(1,1)_{q,s}$, its generators can be represented by the q,s -deformed k -mode bosonic oscillators: (1) For the positive discrete series (a):

$$(L_k^{(a)})_+ = s^{-1} A_k^+ \sqrt{[2l + N_k^a]_{qs}}, \quad (L_k^{(a)})_- = s^{-1} \sqrt{[2l + N_k^a]_{qs}} A_k \tag{48a}$$

$$(L_k^{(a)})_0 = l + N_k^a \tag{48b}$$

or

$$(L_k^{(a)})_+ = s^{-1} C_k^\dagger \sqrt{[2l + N_k^c]_{qs}}, \quad (L_k^{(a)})_- = s^{-1} \sqrt{[2l + N_k^c]_{qs}} C_k \tag{49a}$$

$$(L_k^{(a)})_0 = l + N_k^c \tag{49b}$$

(2) For the negative discrete series (b):

$$(L_k^{(b)})_+ = s \sqrt{[2l + N_k^b]_{qs^{-1}}} B_k, \quad (L_k^{(b)})_- = s B_k^\dagger \sqrt{[2l + N_k^b]_{qs^{-1}}} \tag{50a}$$

$$(L_k^{(b)})_0 = -(l + N_k^b) \tag{50b}$$

or

$$(L_k^{(b)})_+ = s \sqrt{[2l + N_k^d]_{qs}^{-1}} D_k, \quad (L_k^{(b)})_- = s D_k^+ \sqrt{[2l + N_k^d]_{qs}^{-1}} \quad (51a)$$

$$(L_k^{(b)})_0 = -(l + N_k^d) \quad (51b)$$

Equations (48)–(51) are the Holstein–Primakoff realizations of the q,s -deformed k -mode quantum group $SU(1,1)_{q,s}$.

REFERENCES

- Biedenharn, L. C. (1989). *Journal of Physics A*, **22**, L873.
 Burdik, C., et al. (1991). *Journal of Physics A*, **24**, L165.
 Chakrabarti, R., et al. (1991). *Journal of Physics A*, **24**, L711.
 Curtright, T. L., et al. (1990). *Physics Letters B*, **243**, 237.
 Demidov, E. E., et al. (1990). *Progress of Theoretical Physics Supplement*, **102**, 203.
 Drinfeld, V. G. (1986). In *Proceedings of the International Congress of Mathematicians, Berkeley*, p. 798.
 Faddeev, L. D. (1981). *Soviet Science Reviews. Mathematics*, **C1**, 107.
 Jimbo, M. (1986). *Communications in Mathematical Physics*, **102**, 537.
 Jing, S. C. (1993). *Modern Physics Letters A*, **8**, 543.
 Katriel, J., et al. (1991). *Journal of Physics A*, **24**, 2093.
 Kulish, P. P., et al. (1981). *Journal of Soviet Mathematics*, **23**, 2535.
 Macfarlane, A. J. (1989). *Journal of Physics A*, **22**, 4581.
 Mallick, B. B., et al. (1991). *Modern Physics Letters A*, **6**, 701.
 Ng, Y. J. (1990). *Journal of Physics A*, **23**, 1023.
 Nodvik, J. (1969). *Annals of Physics*, **51**, 251.
 Quesne, C. (1991). *Physics Letters A*, **153**, 303.
 Schirrmacher, A., et al. (1991). *Journal of Physics C*, **49**, 317.
 Song, X. C. (1990). *Journal of Physics A*, **23**, L821.
 Sudbery, A. (1990). *Journal of Physics A*, **23**, L697.
 Sun, C. P., et al. (1989). *Journal of Physics A*, **22**, L983.
 Yan, H. (1990). *Journal of Physics A*, **23**, L1155.
 Yu, Z. R. (1992). *High Energy Physics and Nuclear Physics*, **16**, 461.
 Yu, Z. X., et al. (1998). *International Journal of Theoretical Physics*, **37**, 1225.
 Zhou, H. Q., et al. (1995). *High Energy Physics and Nuclear Physics*, **19**, 420.